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* {SEEMH : 7-280x80x19.9x3.2  FfE : 345 N/mm2

* BEEAE



Ix : 16595400 mm4
Iy : 1839300 mm4
Zx : 118540 mm3
Zy 20170 mm3
iy - 38.40 mm
Aw : 604.00 mm2
* ERETEMH
[ 3 for 300.0 N/m2
BREE 100. 0 N/m2
ARE 3500.0 N/m2
EEWE 600. 0 N/m2
I E 5 EE :1500.0 mm
RS- ALL © Span / 300
EHARF A=A Span / 180
* EIRAE 3.00 / 10 6 = 16.7 deg.
* BEETIL
R8> 10 5400 mm / FEEEREIESD 1 #F
Z/%y 2 5400 mm / ABEEJEIES rdii
* EREMESMH - R#IRE (DL + LL)
Wx = (BEIEFRE + HHAE) x ’7:‘# WE x cos O = 0.5747 N/mm
Wy = (BERE + EHATE) x 21808 x sin 6 = 0.1724 N/mm
* M XEAMIZRRA
1 1164 N
2 3879 N
3 1164 N
* EMYEARXRR A
1: 183 N
2 532 N
3 & 432 N
4 532 N
5: 183 N
* MR 1 ORE
XS = 0.0 mm XE = 2700.0 mm Lb = 2700.0 mm ( ##HBIXEORE )
M1 = 0 Nkmm M2 = 1047383 Nxmm Mmax= 1178306 Nkmm
Cb =1.75 - 1.05 * ( 2/M1)+03*(M2/M1)2T—T_L,231«,l'F7§\’DM1 M2
=1.00 Mmax > M DiF&EF Ch =1 =Llb / iy =70
fbx= (1.1 - 0.6 x F / (x"2 * E * Ch) * A72) * ft 75\’3 fhx=ft (A =85%/ Cb DIFA)
Mx/Zx/fbx = 6§ 1.0 OK MX = 1047383 Nskmm fbx = 137 N/mm2
My/Zy/ft = 0.03= 1.0 OK MY = 134664 Nsmm ft = 230 N/mm2
Mx/Zx/fbx + My/Zy/ = 0.09= 1.0 OK LMmax = 2700.0 mm
XS = 2700.0 mm XE = 5400.0 mm Lb = 2700.0 mm ( H#E#HBIXEORE )
M1 = 1047383 Nxmm M2 = -2094766 Nxmm Mmax— 1047383 Nsmm
Cb=1.75-1.05% (M2 /M ) +03x (M2/M) 27‘.1“.[,231«)"F7b\0M1 M2
=2.30 Mmax>M10)i%€:‘li Cb =1 A—L/ =70
fbx= (1.1 - 0.6 *x F / (1”2 * E * Ch) * 172) * ft 75\0 fhx=ft (A =85%/ Cb DIHFA)
Mx/Zx/fbx = 0.09= 1.0 OK MX = 2094766 N+mm fbx = 202 N/mm2
My/Zy/ft = 0.02= 1.0 OK MY = 89776 N+mm ft = 230 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.11= 1.0 OK LMmax = 5400.0 mm
Q1/Aw/fs = 0.01 = 1.0 OK Q1 = 1164 N fs = 132 N/mm2 fs =ft / 3
Q2/Aw/fs = 0.02 = 1.0 OK 02 = 1940 N fs = 132 N/mm2
S X = 0.78 mm Sy = 0.05 mm
Yomax = 4 (6x"2+8y"2) = 0.78 mm Ldémax = 2255 mm X Smax/Span = 1/ 6928< 1/ 300 OK
/ EM#®E OK
* HHMEME 2 ORE
XS = 5400.0 mm XE = 8100.0 mm Lb = 2700.0 mm ( HHBIEEOKRE )
M1 = -2094766 Nxmm M2 = 1047383 Nxmm Mmax= 1047383 Nxmm
Cb=1.75-1.05% (M2 /Ml ) +0.3+* (M2/M1)2f—T_L,23u'F73\OM1 M2
.30 Mmax > M1 DiF&(& Cb = 1 /1 =Lb / iy =70
fbx= 1.1-0.6%F / (r”2 % E % Cb) * 172) * ft fJ\’) fbx=ft (A =85/ Cb MiHFE)
Mx/Zx/fbx = 0.09= 1.0 OK MX = 2094766 Nskmm fbx = 202 N/mm2
My/Zy/ft = 0.02= 1.0 OK MY = 89776 Nxmm ft = 230 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.11= 1.0 OK LMmax = 5400.0 mm
XS = 8100.0 mm XE = 10800.0 mm Lb = 2700.0 mm ( EHAIXBORE )
M1 = 1047383 Nkmm M2 = 0 Nxmm Mmax- 1178306 N*m
Cb=1.75—105*(M2/M1)+03*(M2/M1 27"7"L231«J'Ff3\’3M1 = M2
=1.00 Mmax > M1 DiFEI(1E Cb = 1 =Lb / iy =70
fbx= (1.1 - 0.6 * F / (m"2 * E * Cb) * 172) * ft /J\O fox=ft (A1 =85/ Cb MIFAH)
Mx/Zx/fbx = 0.06= 1.0 OK MX = 1047383 Nxmm fbx = 137 N/mm2
My/Zy/ft = 0.03= 1.0 OK MY = 134664 Nxmm ft = 230 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.09= 1.0 OK LMmax = 8100.0 mm
Q1/Aw/fs = 0.02 = 1.0 OK Q1 = 1940 N fs = 132 N/mm2 fs=ft/ 43
Q2/Aw/fs = 0.01 = 1.0 OK Q2 = 1164 N fs = 132 N/mm2



dX 0.78 mm_ &Sy 0.05 mm
T 8max = { (8x"2+8y72) 0.78 mm LS max = 8546 mm X Smax/Span = 1/ 6928 1/ 300 OK

/ EM®EE OK

mnn

* BRETEERM C BMHAE (DL +LL+W)

Wx = {(IEIET“E + # BWEWE + BEFIE} x 91808 = 5. 8247 N/mm
Wy = (BERE + BEHEE 9 X 58iE = 0.1724 N/mm
* EMXEARAZRRS
1: 11795 N
2 : 39317 N
3: 11795 N
* EMYEARAIXRRD
1: 183 N
2 : 532 N
3 432 N
4 532 N
5 : 183 N
* EMEM 1 ORE
XS = 0.0 mm XE = 2700.0 mm Lb = 2700.0 mm ( #E#HAIXEOKRE )
M1 = 0 Nskmm M2 = 10615508 Nxmm Mmax= 11942447 Nsmm
Cb=1.75-1.05% (M2 /M )+ 0.3 * (M2/M1)”2T:7‘:*L, 2.3 LT Mo M = M2
=1.00 Mmax > M1 Di5F&(E Cb = | =Lb / iy =7
fbx= (1.1 - 0.6 * F / (n"2 * E * Ch) * 2) * ft 75\’3 fbx<ft (A =85/ Cb DIHFHE)
Mx/Zx/fbx = 0.49=< 1.0 OK MX = 11916439 Ntmm fbx = 205 N/mm2
My/Zy/ft = 0.00= 1.0 OK MY = 31774 N#mm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.49=< 1.0 OK LMmax = 1930.5 mm
XS = 2700.0 mm XE = 5400.0 mm Lb = 2700.0 mm ( HE#HBIXEORE )
M1 = 10615508 N+mm M2 = -21231016 N+xmm  Mmax= 10615508 Ntmm
Cb=1.75-1.05% (M2 /M ) +0.3x* (M2/M1)27‘:T:’l, 2.3 LT ™D M = M2
=2.30 Mmax > M DFEF Cb =1 /1 Lb / iy =7
fbx= (1.1 - *F / (m”2 x E * Ch) * ) * ft 75\’3 fbx<ft (A =85/ Cb DIBH)
Mx/Zx/fbx = 0. 59< 1.0 OK MX = 21231016 Nmm fbx = 304 N/mm2
My/Zy/ft = 0.01= 1.0 OK MY = 89776 N+mm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.60= 1.0 OK LMmax = 5400.0 mm
Q1/Aw/fs = 0.10 = 1.0 OK Q1 = 11795 N fs = 199 N/mm2 fs=ft/ 43
Q2/Aw/fs = 0.16 = 1.0 OK 02 = 19658 N fs = 199 N/mm2
Sx = 7.88 mm &y = 0.05 mm
YOmax = 4 (6x"2+8y"2) = 7.8 mm LS&max = 2282 mm X Smax/Span = 1/ 684= 1/ 180 OK
/ RE&EE OK
* HMHMEM 2 OBRE
XS = 5400. 0 mm XE = 8100.0 mm Lb = 2700.0 mm ( #EHRMIXEOKRE )
M1 = -21231016 Nkmm M2 = 10615508 Nxmm Mmax— 10615508 Nmm
Cb=1.75-1.05% (M2 /M ) +03x (M2/M )27 L 2.3 LT ™D M =M
=2.30 Mmax > M1 ®d3F&IE Cb =1 A =1Lb / iy =70
fbx= (1.1 - 0.6 * F / (m 2 *xE * Ch) * A72) * ft 7‘3\0 fox=ft (A =85%/ Cb MIHH)
Mx/Zx/fbx = 0.59=< 1.0 OK MX = 21231016 Nsmm fbx = 304 N/mm2
My/Zy/ft = 0.01= 1.0 OK MY = 89776 Nxmm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.60= 1.0 OK LMmax = 5400.0 mm
XS = 8100.0 mm XE = 10800.0 mm Lb = 2700.0 mm ( HE#HBIXEOKRE )
M1 = 10615508 Nxmm M2 = 0 Nxmm Mmax= 11942447 N+mm
Cb=1.75-1.05 (M2 /M ) +0.3 % (M2/M )21’-7‘-L23L,l'Fb\0M1 M2
=1.00 Mmax > M DFEIE Ch =1 A =Lb / iy =70
fbx= (1.1 - 0.6 * F / (x”2 *x E x Cb) * 172) * ft fJ\’D fox=ft (A =85/ Cb DIFA)
Mx/Zx/fbx = 0.49= 1.0 OK MX = 11916439 N+mm fbx = 205 N/mm2
My/Zy/ft = 0.00= 1.0 OK MY = 31774 Nxmm ft = 345 N/mm2
Mx/Zx/fbx + My/Zy/ft = 0.49= 1.0 OK LMmax = 8869.5 mm
Q1/Aw/fs = 0.16 = 1.0 OK Q1 = 19658 N fs = 199 N/mm2 fs=ft/ 43
Q2/Aw/fs = 0.10 = 1.0 OK Q2 = 11795 N fs = 199 N/mm2
S x = 7.88 mm &y = 0.05 mm
S Omax = ¥ (6x"2+8y"2) = 7.88 mm LSmax = 8519 mm X Smax/Span = 1/ 684=< 1/ 180 OK

/ RR&E OK

* BREHEERM  EMEE (DL +LL+S)

Wx = (EIERE + BEBEE + HERE) x cos 6 x 54EIE = 1.4367 N/mm

Wy = (BIERE + HEHAE + WEHE) x sin 6 x 51 = 0.4310 N/mm
* EE X B AR AR A

1: 2909 N

2 9698 N

3: 2909 N

* EBMYEARXRRA
1 4R7 N



U v

2 1330 N

3= 1081 N

4 : 1330 N

5 457 N

* EMEM 1 ORE

XS = 0.0 mm XE = 2700.0 mm b = 2700.0 mm ( #EHBIRFORE )

M1 = 0 Nekmm M2 = 2618458 N+mm Mmax= 2945765 Nmm

Cb=175-1.05*(M2/M1)+03*(M2/Ml 27‘,7LL231«1'F7’J\’3M1 = M2
=1.00 Mmax > M1 (D%ﬁli Cb =1 /1 = Lb =70

fbx= ‘1.1 -0.6*F/ (n 2 %E *Ch) * 1°2) *ft fJ\’J fox=ft (A =85/ Cb DiFAE)

Mx/Zx/fbx = 0.11= 1.0 OK MX = 2618458 Nemm fbx = 205 N/mm2

My/Zy/ft = 0.05= 1.0 OK MY = 336659 Nxmm ft = 345 N/mm2

Mx/Zx/fbx + My/Zy/ft = 0.16= 1.0 OK LMmax = 2700.0 mm

XS = 2700.0 mm XE = 5400.0 mm Lb = 2700.0 mm ( #E#HBIXEOKRE )

M1 = 2618458 N+mm M2 = -5236915 N*mm Mmax— 2618458 N+mm

Cb=1.75—105*(2/M1)+03*(M2/ )27‘.7‘—L231A'F7’J\'3M1 M2
=2.30 Mmax > M o)i%é‘(et =1 /1 =Llb / iy =70

fbx= (1.1 - *F / (n72 % * Ch) * A72) * ft 75\’3 fox=ft (A =85y Cb DIHFH)

Mx/Zx/fbx = 0 15= 1.0 OK MX = 5236915 Nekmm fbx = 304 N/mm2

My/Zy/ft = 03= 1.0 OK My = 224439 Nxmm ft = 345 N/mm2

Mx/Zx/fbx + My/Zy/ft = 0.18= 1.0 OK LMmax = 5400.0 mm

Q1/Aw/fs = 0.02 = 1.0 OK Q1 = 2909 N fs = 199 N/mm2 fs=ft/ 43

Q2/Aw/fs = 0.04 = 1.0 OK Q2 = 4849 N fs = 199 N/mm2

SX = 1.94mm_ &y = 0.12 mm

Y8max = 4 (8x"2+8y"2) = 1.95mm LSmax = 2255 mm X Smax/Span = 1/ 27711= 1/ 180 OK

/ BEf®RE OK

* MR 2 OBRE

XS = 5400.0 mm XE = 8100.0 mm Lb = 2700.0 mm ( HE#HBIXBORE )

M1 = -5236915 Nsmm M2 = 2618458 N+mm Mmax= 2618458 Nskmm

Cb=1.75-1.05% (M2 /M ) +0.3x* (M2/M) 21’—7‘—L2314'F Ao M = M
=2.30 Mmax > M1 DI3F&IE Cb = 1 /1 =Lb /i

fbx= (1.1 - 0.6 * F/ (n"2 * E * Cb) * 172) * ft /J\? fox=ft (A <85*J'Cb DIHE)

Mx/Zx/fbx = 0.156= 1.0 OK MX = 5236915 Nkmm fbx = 304 N/mm

My/Zy/ft = 0.03= 1.0 OK MY = 224439 N*xmm ft = 345 N/mm2

Mx/Zx/fbx + My/Zy/ft = 0.18= 1.0 OK LMmax = 5400.0 mm

XS = 8100.0 mm XE = 10800.0 mm Lb = 2700.0 mm ( EHRIXMEORE )

M1 = 2618458 Nsmm M2 = 0 Nkmm Mmax= 2945765 Nxmm

Cb=1.75-1.05 % (M2 / M ) + 0.3 % (M2/M1)2T_T-L23IA'F7§\’DM1 M2
=1.00 Mmax > M1 @i%%ld: Cb =1 =Lb / iy =70

fbx= (1.1 - 0.6 *x F / (r"2 % E * Cb) * 172) * ft fJ\’) fox=ft (A <85*J’Cb NIBE)

Mx/Zx/fbx = 0.11= 1.0 OK MX = 2618458 Nemm fbx = 205 N/mm

My/Zy/ft = 0.05= 1.0 OK MY = 336659 Nxmm ft = 345 N/mm2

Mx/Zx/fbx + My/Zy/ft = 0.16= 1.0 OK LMmax = 8100.0 mm

Q1/Aw/fs = 0.04 = 1.0 OK Q1 = 4849 N fs = 199 N/mm2 fs =ft / 43

Q2/Aw/fs = 0.02 = 1.0 OK Q2 = 2909 N fs = 199 N/mm2

dXx = 1.94mm Sy = 0.12 mm

YOomax = 4 (8x"2+8y"2) = 1.95mm LSmax = 8546 mm X Smax/Span = 1/ 27711= 1/ 180 OK

/ EMBRE OK

* // BEHE OK



